ReVerie Ltd Tel: 01206 866663

. Unit 2, Chandlers Row
R E E R I E Port Lane Fax: 01206 868144
Colchester E-mail: sales@reverie.ltd.uk

Essex, CO1 2HG

B ah Exige S2 Tail s
- .H i ge al gate i FH =

L TR e

RO1SB0329

Introduction

This tailgate is designed to improve airflow through the standard air to air
intercooler. The intercooler efficiency can be further improved by fitting our carbon
or GRP roof scoop and opening the rear aperture as described in the roof scoop
instructions.

Fully painted tailgate shown Unpainted tailgate awaiting slats & Dzus fastners

LOTUS DISCLAIMER And fitment of clam mounted rear wing.

Although ReVerie Limited supply parts for use with/on vehicles manufactured by Lotus Cars Limited, ReVerie
Limited is in no way connected to Lotus Cars Limited or any other member of the Lotus Group of companies
(“Lotus”) and is entirely independent of Lotus. Accordingly, none of the products offered for sale or supplied by
ReVerie Limited (nor any advice or service offered or provided by ReVerie Limited) are in any way endorsed by
Lotus and Lotus has not tested or approved any such products or services. Accordingly, Lotus shall not under
any circumstances be liable for any loss, claim, damages or any consequential, indirect or special damages
whatsoever arising out of or in connection with the use of products sold or supplied by ReVerie.

Tools Required

Metric spanner set

Metric socket set

Metric Ball end allen key set

Drill and drill bits

Parts supplied

1 off C/Fibre Tailgate moulding with aero slats fitted

1 off C/fibre Boot cover panel

2 off C/ffibore 50mm wide Dzus mounting brackets

4 off M3*16 but head s/steel bolts to fix Dzus springs on underside of rear carbon brackets

4 off M3 S/steel nyloc nuts to fix Dzus springs on underside of rear carbon brackets

8 off M3 Form A washers to fix Dzus springs on underside of rear carbon brackets

4 off M5 *16 but head s/steel bolts to fix dzus brackets to tailgate boot surround rain recess

8 off M5 Form C washers 12.5mm od approx to fix dzus brackets to tailgate boot surround rain recess
4 off M5 s/steel nyloc nuts to fix dzus brackets to tailgate boot surround rain recess

2 off 50mm long 25mm * 3mm wide self adhesive foam strips to use as cushion on top of Dzus brackets

2 off Dzus S5-300/S5325 attachment springs for rear quarter turn fastener c/fibre brackets (to mount on under
upper surface of bracket)

www.reverie.ltd.uk Page 1/5



http://www.reverie.ltd.uk/

2 off Dzus EHF5-70 1/4" turn dzus fastener

4 off 2.5mm diameter * 8mm approx dome head std rivets for Top Dzus quarter turn fasteners

—
-
-

1. Remove original rear tailgate

and shims, be careful not to drop
bolts or shims.

2. Fit new tailgate using original

bolts and shims. Carefully align
tailgate, to give good gap all the
way around panel. Then adjust
shim height between hinges and
tailgate to give good fit when
shut in centre and at edges at
front.

Fit Dzus brackets at the rear in
the boot gutter recess channel.
You can mark where to fix them
from the position of the Dzus ¥4
turn fasteners holes, by looking
down through closed new
tailgate. They can be drilled and
bolted through the clamshell on
the vertical gutter sides, they
are adjustable for height and the
Dzus spring can be moved in and
out on the underside of upper
surface.

Fit boot cover, you may need to
remove the o.e lotus boot
surround rubber to get it to sit
down and allow the tailgate to
shut flush. The boot cover should
have some self adhesive sponge
* 6 off strips around its inner
vertical wall to make it a nice
rattle free fit. Stops rain running
into boot through lower side
vents.

www.reverie.ltd.uk

Page 2/5



http://www.reverie.ltd.uk/

5. Test the tailgate down with the
boot cover fitted and make sure
you can get a good fit. Adjust
the brackets into position, fit the
Dzus springs to the underside of
the top surface. Then when
happy with positions rivet the ¥4”
turn Dzus fixing to the upper
surface of the tailgate in holes
pre-drilled by reverie.

6. You may need to fit 25mm *
3mm foam pads to the upper
surface of the Dzus bracket to
help get a good rattle free fit.
Adjust the height of the bracket
and position across the car of
the Dzus spring as required to
get a good secure engagement
and lock of the fastener. Ensure
all bolts tight inc the hinges to
car and to tailgate.

7. Now fit a new clam mount rear
wing again available from reverie
to ensure good handling of the
vehicle. You may also like to fit
the optional roof scoop to further
improve the intercooler
efficiency. (straight clam mount
wing shown here). Alternatively
you may like to at your own risk
stiffen the tailgate and fit a
tailgate wing with modified
mounts (not endorsed or
recommended by us)

8. You may alternatively like to fit
aero catches to your tailgate, to
allow non hinged fitment. Aero
catches are available from
demon tweeks worldwide mail
order. You will however then
need to modify the boot cover.
Rear brackets and posts shown
here in boot well.

www.reverie.ltd.uk Page 3/5



http://www.reverie.ltd.uk/

9. Alternative aero catch positions
shown (four posts). See plans
below and image to give more
dimensional info, again this is
your own choice and own risk.
We purely recommend hinges
and ¥4” turn fasteners as
supplied, and insist you fit a
clam mount wing.

WARNING, MOTORSPORT OR DRIVING CAN BE DANGEROUS RESULTING IN DEATH OR
PERSONAL INJURY.

READ OUR FITTING INSTRUCTIONS CAREFULLY

This article is sold without warranty expressed or implied. No warranty or representation is made as to this product’s ability to protect the user
from injury or death. The user assumes that risk. The effectiveness, warranty and longevity of this equipment are directly related to the manner in
which it is INSTALLED, USED, and/or MAINTAINED. THE USER ASSUMES THE RISK.
Fitment of REVERIE PRODUCTS TO AUTOMOBILES THAT ARE SUBJECT TO A MANUFACTURER'S WARRANTY MAY VOID THE
MANUFACTURER'S WARRANTY AND THE VEHICLES ABILITY TO MEET EMISSION OR OTHER TRANSPORT REGULATIONS.
By purchasing this product and opening the packaging, purchasers expressly acknowledge, understand and agree that they take , select and
purchase these REVERIE products from REVERIE, its affiliates, distributors, and agents ( collectively, REVERIE) "as is" and "with all faults".
The entire risk as to the quality and performance of these REVERIE parts is with the purchasers. Should the goods prove defective following their
purchase; the purchasers assume the entire cost for all necessary servicing or repair or any resulting liability. Working on your car can be a
dangerous activity. If you are unsure of what you are doing, please leave mechanical or Safety critical work to a skilled mechanic.
We take no responsibility for the incorrect use and / or installation of REVERIE products.

WWW.REVERIE.LTD.UK

Measurements Taken from a customer’s car for information only.
Fitted with Aero catches for full quick release.

www.reverie.ltd.uk Page 4/5



http://www.reverie.ltd.uk/
http://www.reverie.ltd.uk/

Measurements taken from customer’s car with aero catches fitted:

LA RRACKETS AClOCATCH
s Top of bracket to
zz e wl—.‘:‘a Lc;;i)gor:‘tpost 58mm
PN
@n- vesed HerenY .
FRoWnt  GRACKETS
FS

t‘ M“ Top of bracket to
.r ol ‘ _ LOP ?Itpost 24mm
"WYevg Lor °ig
BRACKET : C’M RAISEN.
Rubber
LS e Lok N PN

8 =
g anien aMbs Q
! "Top surface spacg € E 8§ o
washer plate * 4 off & ‘

www.reverie.ltd.uk

Page 5/5


http://www.reverie.ltd.uk/

	Introduction
	Fully painted tailgate shown     Unpainted tailgate awaiting slats & Dzus fastners
	LOTUS DISCLAIMER    And fitment of clam mounted rear wing.

	Tools Required
	Exige S2 Tailgate
	R01SB0329


